Vial Company : Beach Petroleun Ltd

BAKER Well : Fermat-1 ‘ —
- 1 Interval : 996.00 - 3587.02 meters v PETI({:OLEUM
INTEQ Created : 06/Jan/2009 8:29:28 Pl d
GAS RATIO PLOT
TOTAL GAS CHROMATOGRAPH 0CQ RATIOS C1 Ratios B
DITCH GAS (unit) % 10 Clppm 100000 Unitless 1 LHR 1000 10 C1C2 100000 % %
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e @ |1 CZppm 100000 S R GWR 1000 | 10 c1cs woo| 2
g 10 C3ppm 100000 10 cic4 100000
10 iC4 ppm 100000 10 C1Cs 100000
o TR o
10 iC5 ppm 100000
10 nCS ppm 100000
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Carbifle Run @ 1421.0jm
Actudl: 4825 strks
Fheoteticat: 4§ttstrks
Avg Hole Diameter : 12.29"
Carbifle Gas : 18 units -
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INTERPRETED
LITHOLOGY
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